


Q.1 Select the option that is related to the third 

term in the same way as the second term is 

related to the first term.

उस विकल्प का चयन करें जो तीसरे पद से उसी प्रकार संबंवित 

ह ैजैसे दसूरा पद पहले पद से संबंवित है

Stenographer -

(05 Feb 2019) Shift-II 

VEGT : SHJQ :: FGCM : ?
(A)BJF

J 

(B)CJP

J 

(C)CJF

J 



Q.2 Chlorine is related to Halogen in the 

same way as Neon is related to ..... 

क्लोरीन हलैोजन से उसी प्रकार संबंवित ह ैवजस 

प्रकार वनयॉन ककससे संबंवित ह.ै..

Stenographer - (05 

Feb 2019) Shift-II

(A)Metal 

(B)Radio 

Active 

(C)Gas 

(D) Inert Gas



Q.3 Select the option that is related to the 

third term in the same way as the second 

term is related to the first term. 

उस विकल्प का चयन करें जो तीसरे पद से उसी प्रकार 

संबंवित ह ैजैसे दसूरा पद पहले पद से संबंवित ह।ै

Stenographer - (05 

Feb 2019) Shift-II 

Jurist : Law :: Orator : ?/ विवििेत्ता : कानून :: िक्ता 

: ?
(A)Lawye

r 

(B)Writin

g 

(C)Acting 

(D)Speec



Q.4 Find the missing term in the given 

analogous pair.

कदए गए अनुरूप युग्म में लुप्त पद ज्ञात कजवजए।

Stenographer - (05 

Feb 2019) Shift-II

1 : 4, 3 : 14 : : 5 : 32, 7 : .......
(A)58 

(B)79 

(C)85 

(D)97



Q.5 Select the option that is related to the third 

term in the same way as the second term is 

related to the first term.

उस विकल्प का चयन करें जो तीसरे पद से उसी प्रकार 

संबंवित ह ैजैसे दसूरा पद पहले पद से संबंवित ह।ै

Stenographer -

(05 Feb 2019) Shift-II 

Grief : Anguish :: Pique : ?/ दुुःख : िेदना :: मनमुटाि : 

?
(A)Joy 

(B)Anger 

(C)Jealou

s 

(D)Tense

d

(A)

आनंद

(B)

गुस्सा

(C)

ईर्षयाा



Q.6 Select the option that is related to the third 

term in the same way as the second term is 

related to the first term.

उस विकल्प का चयन करें जो तीसरे पद से उसी प्रकार 

संबंवित ह ैजैसे दसूरा पद पहले पद से संबंवित ह।ै

Stenographer - (05 

Feb 2019) Shift-II

45 : 135 : : 60 : ? (A)175 

(B)210 

(C)14

0 

(D)18

0



Q.7 Select the option that is related to the 

third term in the same way as the second 

term is related to the first term.

उस विकल्प का चयन करें जो तीसरे पद से उसी प्रकार 

संबंवित ह ैजैसे दसूरा पद पहले पद से संबंवित ह।ै

Stenographer - (05 

Feb 2019) Shift-II 

56 : 8 : : 91 : ?
(A)1

7 

(B)1

3 

(C)1

5 



Q.8 Fluorine is related to Halogen in the same 

way as Argentum is related to which one. 

फ्लोरीन हलैोजन से उसी प्रकार संबंवित है वजस प्रकार 

अजेंटम ककससे संबंवित ह।ै

Stenographer -

(06 Feb 2019) Shift-I

(A)Radio 

Active 

(B)Gas 

(C)Metal 

(D)Inert Gas



Q.9 Select the option that is related to the 

fourth term in the same way as the first term is 

related to the second term.

उस विकल्प का चयन करें जो चौथे पद से उसी प्रकार 

संबंवित ह ैजैसे पहला पद दसूरे पद से संबंवित ह।ै

Stenographer -

(06 Feb 2019) Shift-I 

Apple : Peach :: ? : Cream/ सेब : आडू :: ? : मलाई(A)Butter 

(B)Cooki

e 

(C)Bread 

(D)Cake



Q.10 Select the option that is related to the 

third term in the same way as the second 

term is related to the first term. 

उस विकल्प का चयन करें जो तीसरे पद से उसी 

प्रकार संबंवित ह ैजैसे दसूरा पद पहले पद से संबंवित 

ह।ै

Stenographer - (06 Feb 2019) Shift-I 

EP : MX :: AI : ?
(A)IM 

(B)IQ 

(C)JP 

(D)IJ



Q.11 Select the option that is related to the third 

letter cluster in the same way as the second letter-

cluster is related to the first letter cluster.

उस विकल्प का चयन करें जो तीसरे अक्षर समूह से उसी प्रकार 

संबंवित ह ैजैसे दसूरा अक्षर-समूह पहले अक्षर समूह से संबंवित 

ह।ै

Stenographer (11 November 2021) Shift-I 

PRIEST: TSRPIE:: UMPIRE: ? (A)RUPMIE 

(B)URMPIE 

(C)URPMI

E 

(D)URPME

I 



Q. 12 Select the option that is related to 

the third term in the same way as the 

second term is related to the first term.

उस विकल्प का चयन करें जो तीसरे पद से उसी 

प्रकार संबंवित ह ैजैसे दसूरा पद पहले पद से संबंवित 

ह।ै

Stenographer - (06 

Feb 2019) Shift-I 

12 : 9 :: 45 : ......
(A)41 

(B) 

81 

(C) 

24 

(D) 



Q.13 Select the option that is related to the 

third term in the same way as the second 

term is related to the first term.

उस विकल्प का चयन करें जो तीसरे पद से उसी प्रकार 

संबंवित ह ैजैसे दसूरा पद पहले पद से संबंवित ह।ै

Stenographer - (06 

Feb 2019) Shift-I 

3 : 82 : : 4 : ? (A)25

6 

(B)25

7 

(C)64 

(D)48



Q.14 Find the missing term in the given 

analogous pair.

कदए गए अनुरूप युग्म में लुप्त पद ज्ञात कजवजए।

Stenographer - (06 

Feb 2019) Shift-I

202 : 5, 17 : 4 :: ___ : 7, 10 : 3
(A)204 

(B)402 

(C)420 

(D)240



Q.15 Select the option that is related to the third 

letter cluster in the same way as the second letter-

cluster is related to the first letter-cluster. 

उस विकल्प का चयन करें जो तीसरे अक्षर समूह से उसी प्रकार 

संबंवित ह ैजैसे दसूरा अक्षर-समूह पहले अक्षर-समूह से संबंवित 

ह।ै

Stenographer (11 November 2021) Shift-I

CARPET: RACTEP:: GOBLET: ? (A)DPOTE

L 

(B)COGTL

E 

(C)BOTGF



THANK YOU


